B.S5.204 - Losung

2.
U=14,39
c=45
d=3.04 A=12 b=3.35
a=35
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b)

4,

a)a=2,2cm; b=19cm; ¢ = 1cm; d = 1,9cm; h = 1,8cm
A =%-(a+c)-h=%(2,2cm+1cm)-1,86m= 288cm?,U=a+b+c+d=7cm
b)a=28cm; b=2cm; c=18cm; d =1,8cm; h =1,8cm
A=%{a+®-h=%@3mn+L&m)ﬂﬁmn=4mkm%U=a+b+c+d=8Am1
cJa=44cm; b =2,3cm; ¢ = 2,2cm; d = 1,9cm; h = 1,8cm
A= % (a+c¢c)-h= %(4,4cm + 2,2cm) - 1,8cm = 5,94cm?

,U=a+b+c+d=108cm
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Bildschirmfoto

7.
a =3cm,c =5cm
A = 14cm?
) h= = e = e = 35am
b) Doppelter Flacheninhalt
A = 28cm?
a ist die kiirzere Seite, c bleibt gleich: also ¢ = 5cm
h =3,5cm
A= %(a +c¢)-h
2A
a= T c=11lcm
a musste um 8cm verlangert werden.
8.

a=5mb=3mh=25m
1
A=2-ATmpeZ=2-§(a+c)-h=(a+c)-h

A= (5m+3m)-25m=8m-25m=20m?



